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oM ke 1t

uil)

S e - THollgle SAIA4
2l THEo 2kl (EEREED
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
T etord 2ke| Dt 1,594,774 1,425,771 169,003
= 12,248
= 30,061
Al 1,552,465
Met - Moleles SAlH- 226,846 198,069 28,777
= 7,914
= 26,870
Al 192,062
THEHOl 2 2ke 72,772 74,749 21,977
= 5,000
Al 67,772
QI TH 2| 19,264 20,733 21,469
201 2pt23HI 14,264 15,733 21,469
01 AtR22lt| 8,796 9,940 A1,144
Oetdzte| 2 &2 2 2| 2,196
—otd e 2y =Y
70,0002 * 112 23] ¥*90% 1,386
—QIZtotdE A &I 100, 000& *9H *90% 810
OMHHEEEE M 1,100& 2,000 %32 6,600
02 S22l 5,468 5,793 A325
OastEasAE 4=ER3
25,3123 18 128 5,468
203 HR=&H| 5,000 5,000 0
03 AIMFAHRFEH| 5,000 5,000 0
OME Mol ogas =& 5,000,000& 5,000
KA TH 2ke 18,190 16,822 1,368
201 LEr23H| 16,654 14,902 1,752
01 AtSZeltl 9,560 11,300 A1,740
Oet&Zte| A= N 22t 27,5003 2005 5,500
OAMETHol SSHBE ARSI
70,0003 *20E 12| *90% 1,260
OTHOHOH 2 = 2] 7,000 *20% x203] 2,800
02 S22l 7,094 3,602 3,492
OXATL afgtatd |X 23| 7,094
— Mt Seatgs SX2edl 500,0003 #5655 2,500
—LHSEAAE AMEBZ  228+2,000H %252 1,100
—THEH IS AZAl AlAE ME3| M|
216,000 x12& 2,592
—&AIZE 0lSZ4A A0IEZ AMER
25,000& *12& 300
—A8HESI| AERS 16,7003 *3CHx12& 602
301 LerEAE 1,536 1,920 1384
12 JIEt2 4= 1,536 1,920 N384
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MY - Mollgls ZAIAE
DOl 2t

o™ Tz| ]
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o = — Al L=
LR ICR RN EN R e HIDE2
ORIZZLIERE W= 20,0003 *48E »23|*80% 1,536
SHE S ALY 10,000 3,000 7,000
= 5,000
Al 5,000
201 Ler2dd| 10,000 3,000 7,000
= 5,000
Al 5,000
02 3323l 10,000 3,000 7,000
OS=di2gz 20,0002 *5009t= 10,000
= 5,000
Al 5,000
Aegdi=t=2g 7,740 14,350 26,610
201 LBty 3,100 6.400 23,300
01 AR 22| 3,100 6.400 23,300
OgMuUE BA+< 70,0002 302! 2,100
OXNEYME WSH| 1,000
— 2 AtHI 300,000 23] 600
—S=0s ME 200,000 23] 400
301 &et2as 3,800 6,900 23,100
10 HAIMHI2 &= 1,200 1,500 A300
OXts2 et ol 10,0002 %120 1,200
12 JIet24=2 2,600 5,400 A2,800
OXNESYME LI=H| 2,600
—2nes 24 20,0002 =100& 2,000
—2x 6,000 *100H 600
302 OIFH o2 el = 840 1,060 A210
02 QIZtRITHol 2at= 840 1,050 2210
OMoH=E+ IR 7,000& %120 840
o= 17,578 18,794 21,216
201 &er=gll 17,578 18,120 AD42
01 ArZ2tcIbl 17,578 18,120 AD42
OSXNSESAA 15,898
—&EE HH 80,0002 155 1,200
—AIREHIS & 193,000 x2Z5*5H 1,930
—2EHINL 2
,000& 160 x34] x4 2 «95% 12,768
O=IPIetE s a2 4|
7,000 x2EH+120 1,680
d=3 3% 154,074 123,320 30,754
= 7,914
T 21,870
Al 124,290
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SA oA 2] ot
& MY - Mollglse =AIAE
C9l: AlDlotE 23 F (S &)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
01 AtR2teiH| 19,992 9,520 10,472
O zdEEE oIt HHEY ogs st
tEEH(ZHI) 19,992,000 19,992
[ 9,99
Al 9,996
QMRS FHAY (ZH]) 19,000 10,000 9,000
[ 9,500
Al 9,500
201 e 19,000 10,000 9,000
= 9,500
Al 9,500
01 AR 2tcIbl 19,000 10,000 9,000
ONugs Ast AHME2SHFA
19,000, 000& 19,000
[ 9,500
Al 9,500
Mtes 14,700 0 14,700
201 Ler=a| 14,700 0 14,700
01 ArZ2tcIbl 14,700 0 14,700
ONfjt=d 14,700
—MetHStdet=2d 12,200,000 12,200
—2AgAxSHHEH 2,500,000& 2,500
HEUHRAZ ALZ| MY A= 742,408 1,052,098 309,690
2 4,334
= 3,191
Al 734,883
Uy usgdst 629,415 675,695 A\46,280
=2 4,334
= 3,191
Al 621,890
QW= 34,000 49,370 A15,370
201 et 32,600 47,970 A15,370
01 AR 2t2IH| 30,700 44,350 A13,650
Oougus Wi 28,300
— g uSsAHE et 10,000 * 150 1,500
— AT &2 1,0008+6,700%2 6,700
—OIRIR 2R 22
3,000 6,700 20,100
OugAS=2=ME 120,000& x25*102 2,400
03 gAr=4d| 1,900 3,620 A1,720
OULAUEE I SA AT ALY
1,900,000 1,900
301 LEtE N3 1,400 1,400 0
10 AIMHIE2 4= 1,400 1,400 0
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cHel: olmei DR EHS (29 29)
= = — AN L=
SA - HH SR (B) - MRAY - BAS il &t e imE=T
O NBHY DSFAR 24
20,0003 +70 1,400
QIR W= 87,350 85,950 1,400
201 gt ]l 66,000 73,500 A7,500
01 AR gl 66,000 73,500 A7,500
ORI DRES ALY
150, 000& x2ZH #2208t x 13 66,000
206 M= 21,350 12,450 8,900
01 M=l 21,350 12,450 8,900
oglgzd 12,350
— QI | =& 8,000& *1,0004 8,000
—=2& A4 -< 4,350
2% 2,500 *30004 750
nstss 11,0002 1004 1,100
Qlgtes 25,000&*100 2,500
O&sIIRMN g 9,000,000 9,000
SAZLRRA e 493,202 533,312 240,110
202 0ddl 1,800 1,800 0
01 2holtl 1,800 1,800 0
OZozzIee =222 X0
150,000 x 1«12 1,800
301 LetEas 491,402 531,512 240,110
09 BUIZRRIENS 491,402 531,512 240,110
O2U22RA B4z 403,920
—== 90,000 *150H x12& 162,000
—= 2| 5,000 * 150 x20 L * 123 »96% 172,800
—uEh| 2,000 150 x20 L * 122 »96% 69, 120
OMoiEa= 37,982
— A2, THoH 985,600 * 1 «36HH 35,482
—34&0tZH| 500,000 *5& 2,500
OATNMA JIES 30,0003 «150H 4,500
OSUAIRRA 22= 300,000 150 45,000
lete NSEH(FUE0N Y9 ¥ EH) 1,428 1,428 0
= 418
L= 302
Al 708
201 2pt23d] 1,428 1,428 0
= 418
& 302
Al 708
01 AtS2teltl 1,428 1,428 0
ooy =a38| 238,000 *62| 1,428
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A Mot 2te| ot
M MBS AIS| OHED 1
Chol: DIPIAIA e ztal st CEERE
SA - F SR (EH) - NPAY - BYS 0l & o e DS
— SN RES 65,0002 *23] 130
—ISRYRES 250,000& 12 250
—FEgsotd 2l Sl 36,000& *12] 36
—est2el Xt g/l 48,0002 *12] 48
—&J| gt H A 90,000& 122 1,080
— A YOHME A 1,700,000& %13 1,700
—&3x EFI 10,9302 *64= 700
—M==ZFAH| 70,0002 »8=+22] 1,120
—RUMTAAEEZEI2S 130,000 x 122 1,560
— S Y| 12,0002~ 123 144
—d2J iz 25,0003 »2C =123 600
—2| X+ AIEHI 5,000& +418JH+12] 2,090
— oI XA AIEHI 1,6003 #4181 %23] 1,338
—uSIHE =A FHAaH
2,000 +670m 23] 2,680
—AEA=H| 151,000& +63! 906
Od=Z, A4, &HI= Al 13,235
—d==+4H| 2,953&%1,013m *95% 2,842
— X AE =X 1,500, 0003 *95% 1,425
—HIIAE =X 3,000, 0003 *95% 2,850
—JIEtAIE = XIH] 6,118
SE T A 100,000 * 109H A %95% 950
SHEHE X E = X2t
250, 0003 * 1290 2= *95% 2,850
9 AT SA 2
1,000, 0002 *95% 950
- DSE YABE AHTY
120,000& 122 «95% 1,368
401 AIEHIZ SO 40,521 0 40,521
01 Al£Hl 39,804 0 39,804
Onlgusg S & ZMZA 39,804
—Sags 30,7702 *910m* 28,001
—UHR=M 12,3202 958 m 11,803
03 AIE20HBI 77 0 77
OUYSIDSE Y4 L TMBA
39,804,000&+0.018 77
AELHES 24,470 327,013 A302,543
301 Let2a=s 16,470 12,020 4,450
04 UHESYHUHA2SHI 16,470 12,020 4,450
Oltsdgagll =3 16,470
—OF2t=4IHl 3,000& #4.333Z «30H CH =260 10,140
-5 150,000 *3H CH =122 5,400
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A Mo 2te|
T MEDIYRE AtE oMY X
ol DISSIAIA W R g CER-ED
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
—2B4823H| 310,000 *30H CH 930
307 21201 8,000 8,000 0
02 QA AEE 8,000 8,000 0
ONSLHAS MU XA 8,000,000 8,000
At QtH 1R 427,717 0 427,717
S 2te| A st 427,717 0 427,717
HH= CCTV 2Z 377,717 0 377,717
201 Yete | 377,717 0 377,717
01 AtSZeltl 100,000 0 100,000
OCCTV X122l 100,000
— S X2l 100,000, 000& 100,000
02 3324l 217,717 0 277,717
OYE-ECCTV 2UIHRE 9|
1,620,810 x3&H x4 L1228 233,397
OdIl= 5,000 55200 A+ 12& 33,120
OdFX= 5003 20000 A+ 128 1,200
Oxter ISR (ASIHM, 282, LR
g§3) 2,000,000 = 1CH 2,000
Oxtg sAeb(RR, ARS)
8,000,000 = 1CH 8,000
LdHZE CCTV 25 50,000 0 50,000
405 KHobE=HI 50,000 0 50,000
01 XML SEHSY 50,000 0 50,000
OWEICCTV SXR2I XA T2 Q)
50,000,000& = 1CH 50,000
HE2AGH(MorE 22|t 97,803 75,604 22,19
o2yl 26,423 25,204 1,219
elieala] 22,223 21,004 1,219
101 Q1A4H| 22,223 21,004 1,219
03 RIIAHA2ZAE = 22,223 21,004 1,219
OLAWEE RIIHAU2Z A 22| 22,223
=Jl=g 934,990 x 18«12 11,220
—&0= 11,219,880 x 12 *4/12 3,740
— X+ 32,7203 «1Hx18 589
—UesSAt=E 60,000 x1E *123 720
P = 30,0003 x1H+12& 360
—ZU2RY 6, 130& x 1 *30A| 2tx12& 2,207
—&HEE 18,835,600 +10/1,000 189
—1E2E 18,835,600&+13/1,000 245
—Ad2E 18,835,600 *26.65/1,000 502
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SAM Meerdzte|
M HY2AAY (M2 D)
el ol | (o &2
A" G(3) - MPAY - B Ofl &t e HIDE2
—LOoIAIRAEE 501,960&*65.5/1,000 33
—=00d3 18,835,600& *45/1,000 848
—&E&3 18,835,600 *1/12 1,570
=pals] 4,200 4,200 0
203 PR =&l 4,200 4,200 0
04 EA2IEHRFAHI 4,200 4,200 0
ORNM2IIERFAI 350,000 x12& 4,200
J23l 71,380 50,400 20,980
B2 IH| 35,380 24,480 10,900
201 et | 35,380 24,480 10,900
01 AtS2teltl 32,880 24,480 8,400
OFA2IgI1=3H] 30,000
—Ubt=ZH| 50,0003 *25H 122 15,000
—= 2l 50,0003 *25H +12& 15,000
OsADILXE 120,000 x2CH «12& 2,880
02 SZ2234| 2,500 0 2,500
OXt&E=Ald| 2,500,000 2,500
04 81 36,000 25,920 10,080
202 Oid| 36,000 25,920 10,080
01 2LH LI 36,000 25,920 10,080
HEFAI|20 ] 120,000& x25%H x 123 36,000
MHEES (M2t 0t) 100,000 100,000 0
LHEHHX & 100,000 100,000 0
MHet2e| DI 2HES 100,000 100,000 0
02 JI3dES 100,000 100,000 0
01 JI3E&E3 100,000 100,000 0
Oolt2ed=a d&= 100,000,000& 100,000
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